Directions (Questions 1-4): In each of these questions, choose the aption which can be substituted
Sfor the given words.
1. Showing anger because of something unjust or unworthy

(1) Indignant (2) Vendetta (3) Sonnet (4) Absurd

2. A person who studies the past, or who collects or buys and sells old and valuable objects.
(1) Ruffian (2) Antiquary (3) Junk-dealer (4) Crank

3. Someone who talks a lot
{1) Licentious (2) Guilible (3) Voracious (4) Loquacious

4.  Something done in a quiet and secret way in order to avoid being noticed
(1) Repression (2) Surreptitious {(3) Veracious (4) Heinous

Directions (Questions 5-9) : From amongst the options given below each word choose the
appropriate plural form.

5. Foot

(1) Feat (2) Foots (3) Feets (4) Footes
6. Sahl

(1) Saity (2) Salts (3) Seht (4) Salties
7. Louse

(1) Lice (2) Lices (3) Lause (4) Lices
8. Knife

(1) Knive (2) Knives (3) Kniv (4) Knife
9. Dwarf

(1) Dwary (2) Dwarve (3) Dwarves (4) Dwarfe

Directions (Questions 10-13): Choose the word nearest in meaning to the undertined word.
10. Everyone could tell the singer was a diva simply by looking at her brightly-colored ostentatious

outfit.

(1) modest (2) pretentious (3) conservative (4) beautiful
11. Suman was bomn in penury and grew up with bare feet and intestinal worms.

(1) indigence (2) affluence (3) profusion (4) heavy

12, Many people feel that ordering students to wear the same clothing detracts from their
individuality and stifles their creativity.

(1) staggers (2) persuades (3) chokes (4) releases
13. There was some malodorous comuption occurring in the executive's office.
(1) redolant (2) savoury (3) noxious (4) aromatic
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Directions (Questions 14-17): Choose the option which best expresses the meaning of the underlined

idiom/phirase in the semtence.
14.  The teacher was happy when the two brothers agreed to bury the hatchet.
(1) play together (2) participate in the contest
(3} do well in studies (4) end a fight and become friends

15.

Sudhir left his wife and family high and drv.
(1) to leave someone in a difficult situation {2) to leave a lot of wealth

(3) to get married again (4) 1o fight
16, Karan was in such an awful mood at dinner that | left early and just let him gtew in his own
iuice.
(1) be in his own thoughts (2) keep to oneself
(3) suifer for his own actions (4) suffer due to others
17. Rajeev is biting of more than he can chew by taking up & part-time job along with his regular
one,
(1) trying to do something which is too difficult (2) trying to help
(3) having an intense desire for wealth (4) having an excessive desire for food
Directions (Questions 18-21) : In each of these questians. out of the given group of words, choose
the wrongly spelt word.
18. (1) Ailment (2) Aliment (3) Element (4) Fillament
19. (1) Emroneous (2) Extrancous (3) Spontencous (4) Extraneous
20. (1) Gluttony (2) Cacaphony (3) Testimony (4) Hegemony

21.

(1) Psychiatarist (2) Psychologist (3) Technologist (4) Nephrologist

Directions (Questions 22-28) : Fill in the blank.

22

23.

24,

25,

The child has been missing yesterday.

(1) since (2) on (3) by (4) after
He has spent his life Kolkata.

(1) at (2) in (3) from (4) with
He was not able to give a satisfictory explanation his absence.

(1) with (2) on (3) for (4) by

ltisalongtime __ we last saw him,
(1) for (2) after (3) from (4) since
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Directions (Questions 26-45): Study the passages below o answer the questions that follow each
passage.
Passage-1

It is common knowledge that the root cause of our backwardness in most fields s illiteracy,
Campaigns for the eradication of this drawback gathered momentum in the past four decades after
independence. The results are, as expected, dramatic. However, while the percentage of literacy in
India is going up, the number of illiterates has also been increasing. which is really incredible. Thus,
according to the 1991 census figures, there were 503 million illiterates in the country, 30 million
more than in 1981. During the same period, the percentage of literacy went up from 34 to 39 percent.
There is no need of any sophisticated technique to explain the cause of this paradox, as it is obviously
the result of the rapid growth of population. The rapid growth of population has outpaced whatever
little progress had been achieved in literacy, For instance, from 1971 to 1981, literacy increased at an
annual average rate of 0.7 percent, while the couniry's population grew by 2.15 percent every year. In
the following decade, the average rate of annual increase in literacy was 0.95 percent, whereas the
population grew by almost 2.85 percent every year during that decade, But population explosion is
not entirely responsible for the growing number of illiterates. The apathy of most states in failing to
tackle the problem of adult illiterncy is also partly to blame. Till now, they have shown little
awareness of the magnitude of the problem. Moreover, follow-up measures to prevent neo-literates
from relapsing into illiteracy are just as important as the initial adult literacy campaigns. In this case
too, the State Education authorities are negligent, Not sufficient provision has been made for
‘continued education’. This can be done by setting up more rural libraries, adult schools and

cormespondence courses.

26. The term ‘Neo-literate’ as used in the passage refers o a person who
(1) is not literate. (2) has newly become literate.
(3) is a little literate. (4) is a literate with no school education,

27.  Which of the following is the same in meaning as the word ‘outpaced” used in the passage 7
(1) Surpassed (2) Nullified (3) Ruled out (4) Spoiled

28, Which of the following appears unbelievable, according to the passage ?
(1) Growing illiteracy is owing to non-availability of reading facilities 1o rural masses,
(2) Sufficient provision for continued education has not been made.
(3) The increase in literacy percentage and also the increase in number of illiterates.
(4) Population explosion is the only reason for increase in the number of illiterates.

29. In the passage, the rapid growth of population has been attributed to

(1) illiteracy. (2) apathy of government officials,
(3) want of continued education. (4) None of these
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30.

E1 B

33.

34.

35.

Hﬂtﬂl‘dﬂ]ﬂ'} to the passage, the problem could have been tackled by which of the following
measures

A. Checking the growth of population

B. Making the adult literacy campaign more effective

C. Providing continued education 1o neo-literates

(DAandC (2) Aand B (3)Band C (4) All these

Which of the following is as important as the literacy campaign 7
(1) Checking the rapid growth of population.

(2) Starting correspondence courses and providing reading facilities.
(3) Awareness of the magnitude of the problem of illiteracy.

(4) Making sufficient provision for continued education,

. Which of the following is true in the context of the passage ?

(1) Continued education programmes are now adequately funded.

(2) All the State governments have now fully realised the problem of illiteracy.

(3) Literacy campaigns in the pre-independence period were more fruitful than the later ones.
(4) Literacy campaign achieved desired results in the post-independence period.

Which of the following stalements is not true in the context of the passage 7

A. An effective check on population growth is the only solution for aftainment of full literacy.

B. The cause of the paradox mentioned in the passage can be explained by using sophisticated
techniques.

C. Adequate number of libraries and adult schools are not available in our country.

(1) Only A (2) Only B (3)Aand B (4) Aand C

Which of the following has been referred 10 as a paradox ?
(1) The literacy percentage increases and the number of illiterntes decreases.
(2) The literacy percentage increases in proportion to the rate of increase in population.

(3) The government is sensitive to the problem only at the planning stage but not at the
implementation stage,

(4) The literacy percentage and the number of illiterates are both increasing.

‘EMW',HM in the passage means
(1) removal. {2) destruction. (3) starvation. (4) evaporation.
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Passage-11
ﬂwemscnmcmmwhum:ubulmysunﬂulookmfwmhhmd.mullthcmh.lheym
seldom disappointed. Listening to such men, one would think that this world is one of the stormiest
and most disagreeable places. Yet, afier all, it is not such a bad place and the difficulty is ofien in the
man who is too thin-skinned. On the other hand, the man who goes out expecting people to be like
himself, kind and brotherly, will be surprised at the kindness he meets even in the most unlike
quariers. A smile is apt to be met with a responsive smile while the sneer is just as apt to provoke a
snarl. Men living in the same neighbourhood may live vastly different lives, But it is not the
neighbourhood which is quarrelsome, but the man within us. And we have it in our power to change
our neighbourhood into a pleasant one by simply changing our own ways.

36. “...cocceenn..... they are seldom disappointed,” The statement denotes that such men
(1) welcome difficulties as a morale booster.
(2) do not have 1o face any trouble.
(3) manage to keep unruffled in the face of discomforts.
(4) generally do not fail to come across troubles.

37. "“Onthe other hand ............... unlikely quarters.” The statement shows that people’s reaction
1o our aftitude is

(1) generally indifferent. {2) surprisingly résponsive.
(3) often adverse. (4) mainly favourable.

38, The passage is about
(1) our disagreeable and hostile world.
(2) a kindly and pleasant world.
(3) our indifferent and unresponsive world,
(4) the world and what one makes of it.

3%. The auihor's own view of the world is that it is
(1) one of the loveliest and quietest places.
(2} an unpleasant and turbulent place.
(3) one’s own excessive sensitivity that makes it 2 bad place.
(4) & sordid place for those who suffer in life.

40. Which of the following is opposite in meaning to the cxpression ‘thin-skinned” as used in the
passage ?
(1) Insensitive (2) Intelligent (3) Awkward (4) Obstinate
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Passage-T11

Most of us use the products of science—railways, atroplanes, electricity, wireless and thousands of
others—without thinking how they came into existence. We take them for granted, as if we were
entitled to them as a matter of right. We are very proud of the fact that we live in an advanced age and
are ourselves very advanced. Now, there is no doubt that our age is very different from previous ages
and I think it is perfectly correct to say that it is far more advanced. But it is a different thing from
saying that we, as individuals or groups, are more advanced. It would be the height of absurdity to say
that because an engine driver can run an engine and Plato or Socrates could not, the engine driver is
more advanced than, or is superior to Plato or Socrates. But it would be perfectly correct to say that
the engine itself is a more advanced method of locomotion than Plato’s chariot was,

41.  In this passage, the author mentions Plato and Socrates to emphasise that
(1) they were men of great scholarship.
(2) people as individuals in the modem age are not more advanced than their predecessors,
(3) the engine is a better mode of locomotion than Plato’s chariot.
(4) Plato and Socrates had greater respect for leaming.

42. Many of us make use of machines
(T) with very little knowledge of their mechanism.
(2) without any knowledge of their historical significance,
(3) with full knowledge of their genesis.
(4) unknowingly and foolishly,

43.  What is the meaning of ‘absurdity" as used in the passage ?
(1) Anonymous (2) Arrogant (3) Ridiculous (4) None of these

44.  Which one of the following statements is true ?
(1) An engine driver is cleverer than Plato or Socrates.
(2) Plato or Socrates are in no way inferior to the engine driver.
(3) Plato and Socrates surpassed the engine driver in every respect.
(4) The engine driver cannot be compared 1o Plato or Socrates,

45, According to the author, the present age is far more advanced than
(1) all the previous ages in some respects,
(2) the age of Plato and Socrates in some respects.
(3) some of the previous ages in all respects.
(4) all the previous ages in all respects,
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47.

48,

49.

30

51.

52,

53,

54,

55.

Ramesh purchased a watch and sold it at a profit of 20 percent. If he wished to calculate his
profit as a percentage on his selling price, the same would be ’

1 ! 2 1
(1 11-% 2) 12-% 3) 16=% 4) 16-%
) 5 2) 2 (3) 3 (%) 63%

Two radios are sold at T35 each. One of them is sold at a gain of 20% and the other sold at a
logs of 20%. The gain or loss in this transaction is
(1) loss 2% (2) loss 446 (3) loss 3% (4) loss 7%

What is the sum of first five multiples of 4957
(1) 7035 (2) 7295 (3) 7425 (4) 7545

Anuradha deposited in a finance company a sum of 97200 for 3 years and 6 months. She
received T47628 as interest, Find her rate of interest.

() n%% @) :z%% (3) 14% () 14%1{.

A sum of money placed at compound interest doubles itself in § years. In how many years will
it be eight times itself?
(1) 30 years (2) 15 years (3) 20 years (4) 40 years

A policeman goes to his police station for duty on cycle with a speed of 15 km. per hour and
walks down to his home at 5 km per hour, If the total time up and down is 40 minutes, how far
is the police station from his home?

(1) 8 km (2) 2.5 km (3) 6.5 km (4) 3.5 km

How long does a train IJmeinngnuminguﬂunuﬂfﬂhn.pﬂ'hnuruhsmm

another train 110 metres in length?
(1) 10 second (2) 12.1 second (3) 16 second (4) 19 second

A man can row upstream 15 km and downstream 23 km. taking 5 hours each time. Find the
speed of the man in still water.
(1) 3.1 km/hr (2) 3.5 km/hr {3) 3.8 km/hr (4) 4.2 km/hr

A and B can do a piece of work in Iidnymﬂmdcmlﬁdlrlundt‘mdﬁhiﬁday&?mdﬂu
time in which all will finish it t X
(1) 14 days (2) 13 days (3) 10 days (4) 15 days

Two pipes A and B can fill a tank in 12 minutes and IS minutes respectively. Both pipes are
opemdtugmhcrt‘nriminum.thmpipchhummdn!fuﬂpipeﬂmmdwuﬁngtiﬂthe
tank is full. In how many minutes the tank is full?

(1) § min, (2) 10 min. @) s% i, (4) 103 min.
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56.

57.

58.

59.

61,

How many kg. of sall costing ¥6.00-2 kg must be mixed with 16 kg of salt cosiing 8.25 per kg
so that 25 percent may be gained by selling the mixture at ¥9.00 a kg?
(1) 14 ke (2) 12kg (3) 10 ke (4) 15kg

A room is 20 metres long and 15 metres broad. Find the length of the carpet 75 cm. wide which
is required to cover the floor of the room.
(1) 400 m (2) 300m (3) 380'm (4) 40m

How many spherical bullets can be made out of a lead cylinder 28 cm high and 6 cm radius,
each bullet being 1.5 cm in diameter?

(1) 1972 (2) 1279

(3) 1792 (4) Can't be determined

Acylindnr,:hmﬁlplmmdnmisdﬁaibu!mhasmehuemdwithinlhemhdght.
Find the ratio of their volumes in the same order.
(1) 2:13 (2) 123 (3) 3:2:1 (4) 3:1:2

The number of boys and girls in a school are 576 and 480 respectively. Express the ratio of the
number of boys to that of girls in the simplest form.

7 6 4
o =, &) —
(n 5 (2) s (3) (4) 3

1
8
Ifﬁmmuhq:pumnfmuﬁﬂ:hm:ﬂdimmmhnEulmmcnm

profit percentage will be -
(1) 10% (2) 25% (3) 30% (4) 20%

Find the probability of getting a head in a throw of a coin.
M 3 @1 ()2 (&) Nooe of these

Dmcnrdindnmﬁmnpmknfﬂunh.nchofﬂnﬂcud:buiugqmﬂylﬂmlymbe
drawn. Find the probability that the card drawn is black.

| |
(1) 3 (2) 7T
3) j‘i (4) Can't be determined

m:mdﬁhmhhmuﬂmﬁwmﬁm%mnfmmﬁnﬂ

number. The original number is i
(1) 56 (2) 45 (3) 48 (4) 54
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65.

67.

68.

69.

70.

7L

73,

74,

75.

i | ]
Simplify : [I Df}-{(EKS}-r{'II-“E” +§]
()7 (2)9 @31 (4) 13

Simplify : 0.2403+0.7
() 1.3 2) 1.T (3) 1.5 (4) 1.3

The highest score in an inning was % of the total score and the next higher score was -}2; of the

remainder. These scores differ by 8 runs, What was the total score?
(1) 96 (2) 98 (3) 101 4) 97

I [l +i): =1 +-:—, find the value of x.
144 12
(1) 23 (2) 25 (3) 27 (4) 29

The value of 1 + [} +I+H+l+{l+l+2}}]is
(ay 1 @) -:- (3)2 @ L

(1) 2893 (2) 2783 (3) 2693 (4) 2983

Find the L.C.M. 0f 2520 and 5265.

(1) 249480 (2) 294840 (3) 284004 (4) 209484

How many times the H.C.F. of 36, 54 and 90 is contained in the L.C.M. of 36, 54 and 907

(1) 28 (2) 30 (3) 32 (4) 34

Three numbers are in the ratio of 3:4:5 and their LCM s 2400. Their H.C.F, is .
(1) 40 (2) 80 (3) 120 (4) 200

A and B are two friends. A earns 40% more than B. How much percent B eams less than A?
(1) 331 @ za;% 6) 11y @) za;fi%

The production of the company has been decreasing since last two years by 15%. Find the net
decrease in production.
(1) 24.5% (2) 25% (3) 25.75% (4) 27.75%
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Directions (Questions 76-77): The questions given below have a statement followed by two
conclusions Land 11. Decide which of the conclusions follows from the statement. Mark answer as

(1) if conclusion | follows

(2) if conclusion 11 follows

(3) if neither conclusion I nor 11 follows

(4) if both conclusions I and 11 follow

76. Statement
An advertisement of a dog food brand says, “This food contains all the nutrition your dog will
ever need™.
Conclusions
1. Dogs cannot survive without this dog food.
1. This dog food is the only one in the market which contains all the nutrition the dogs need.

77, Statement
After seeing a rising trend in carly part of the month, the prices of precious metals remained
largely range-bound during the rest of October.
Conclusions
L. The prices of precious metals usually see a stability after an initial upward move.
I Prices of precious metals are not dependent on the demand for the metals.

Directions (Questions 78-79): For the Assertion ( A) and Reason (R) below, choose the comect
alternative from the following:
Mark answer as
(1) if both (A) and (R) are true and (R) is the comrect explanation of (A).
(2) if both (A) and (R) are true but (R) is not the correct explanation of (A),
(3) if (A) is true but (R) is false.
(4) if (A) is false but (R) is true,
78. Assertion (A): A large scale stubble burning in the neighbouring states is causing high levels of
pollution in Delhi and NCR.
Reason (R): Plume forms part of 70% of pollutants in the air in Delhi which is released as a
result of burmning of organic material.

79.  Assertion (A): The Indian government has withdrawn its membership from the RCEP (regional

comprehensive economic partnership) agreement.
Reason (R): RCEP does not include all the members of the G20 grouping.

Directions (Questions 80-81): The question given below has two statements I and II. These
statements may be cither independent causes or may be effects of independent causes or a common
cause. One of these statements may be the effect of the other statement. Read both the statements and
decide which of the following answer choices correctly depicts the relationship between these two
statements. Mark answer as

(1) if statement 1 is the cause and statement 11 is its effect.

(2) if statement 11 is the cause and statement | is its effect.

(3) if both the statements | and II are effects of independent causes.

(4) if both the statements [ and 11 are effects of some common cause.
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80.

1.

Statements:

. The Ministry of women and child development has recommended introducing fortified
foods in anganwadis and schools.

Il. Lack of nufrition is a major cause behind poor physical and cognitive development of
children between the ages of 6 to 14 years.

Statements:

I Children who spend more than two hours on television, laptop or mobile phones every day
are more susceptible to obesity.

1. Teachers recommend parents to limit the screen time of their children and introduce them to
outdoor physical activities instead.

Directions (Questions 82-83): Each of these questions consists of a statement followed by two
arguments [ and [I. You have to decide which of the arguments is a ‘strong” argument and which is a
‘weak’ argument.

Mark the answer as

82.

83.

(1) if only argument I is strong
(2) if only argument 11 is strong
(3) if both arguments [ and II are strong
(4) if neither argument I nor 11 is strong

Statement: Will the Altemative Investment Fund (AIF) be announced by the government to

fund stalled real estate projects help revive the sector and give a boost to the economy?

Arguments;

I Yes. The AIF will give the needed financial support to viable real estate projects and the
multiplier effect will act as a positive boost for the overall economic system.

[l. No. The economy is not affected by the real estate sector as very few families in India have
purchasing power to buy housing units.

Statement: The Government of India has announced a scheme to regularise all unauthorised
colonies in Delhi NCR region along with passing a law to check the emergence of more such
colonies.

Arguments:

I. Yes. Regularising unauthorised colonies is a good step as it will give a permanent residence
to people living in such colonies who are unable to access government benefits due to lack
of permanent identity cards.

II. No. This will lead to proliferation of unauthorised colonies as more people will expect that
their colonies will be regularised later on.
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92.

93.
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W £ 1 99 718 # BAGGAGE % w1 feran wmom?
(1) 1177186 (2) 1177174 (3) 2277174 (4) 1187175

meﬁ%wﬁmﬂlm.mmﬁmqﬁmt.ﬁﬂwwtwmlﬁﬁ
WG T N U EIMEWN%mﬁtWTMWWUWQIW
O ga T 7% 5w A gar & i 7E | 1, s P #| aa @ snfd aw
g e & e 3 R ST W Q WA § | W L, ¥ Q far foram % &2
(1) g (2) =fér (3) uftem (4) TlEv—g

arelvs A Ere A W Sl aer & O s ol wiefe & R amg @ 8 ) Al @ A
amg it vt 61 o & A i A ang Rae £ _
(1) 18 (2) 25 (3) 29 (4) 35

13-AM/NA-XXA 18



Directions (Questions 84-85) : Find the odd one out in the series:

84.

85.

86.

&7.

88,

5,11, 17,25, 35, 39, 53

(1)5 2)17 (3)25 (4) 39
F8G, HIOH, J9L, L11J, JIOK, P12L
(1) Jor (2) J10K (3) HIOH (4) P12L

Rathore is married to Sharmila. Ramneek is married to Sharmila’s sister Manjulika. Akhilesh is
the son of Manjulika's husband Ramneek. How is Rathore related to Akhilesh?

(1) Aunt (2) Uncle

(3) Brother (4) Can't be determined

Sﬁhnmmﬂigx&eﬂmam&mmmﬁgmmmmwﬂmﬁ@inﬂ:e.mm:
order). House numbers (HNos.) are 1, 2, 3, 4, 5 and 6. HNo. 1 is in one of the middle two
positions. HNo. 6 is three places right of HNo. 4. HNo.2 and HNo.3 are somewhere to the left
of HNo.1. HNo.3 is to the immediate left of HNo.4, There are two houses between HNo.3 and
HNo.5. Which house is 2* 10 the right of HNo.4?

(1) HNo. § (2) HNo. 1 (3) HNo. 6 (4) HNo. 3
If in a certain code, APPROVAL is written as LAVORPPA, how will REJECTION be written
in that language?

(1) EREJTCION (2) NOITJECER (3) TOINCEJER (4) NOITCEJER

Directions (Questions 89-90): In a certain code language ‘pa ka ma' means ‘dogs are friendly', 'ra
pa ka' means. ‘cats are friendly’ and ‘'ma ka la' means ‘dogs are loving'.

89.

91.

92.

93.

What does 'la’ stand for in that code language?

(1) friendly (2) loving

(3) dogs {4) Can’t be determined
What does *pa’ stand for in that code language?

(1) friendly (2) cats

(3) are (4) Can’t be determined

In a certain code WALLPAPER is written as 221121216116517 and SURFACE is written as
1821186134, How is BAGGAGE written in that code?
(1) 1177186 (2) 1177174 (3) 2277174 (4) LIBT175

Vijay starts driving from point L in East direction for | km to reach point M and then takes a
left turn and travels another 1 km to reach point N. Now he takes a right turn from point N and
tm'vel!f'm'Thntupoimﬂ.hﬁu’tﬂﬁhiﬂgpﬂiﬂt&hﬁhkﬁ:ﬁglﬂlﬂrﬂigﬂhlﬂdhﬂhfﬂﬂ
km to reach point P. He takes a final right turn and travels for 3 km to reach point Q. In which
direction is point L from point Q7

(1) East (2) South (3) West (4) South-East

Ashok is 5 years older than his friend Bharat who is thrice as old as his niece Josephine. If the
total of the ages of the three is 61 years, then how old is Ashok?

(1) 18 (2) 25 (3) 29 (4) 35
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Directions (Questions 94-98): Study the information carefully to answer these questions.
Five schools-A, B, C, D and E are chosen to perform at the republic day event at five different time
slots- 9 am, 9.15 am, 9.30 am, 9.45 am, 10 am. Each schoal will perform a dance form from one
specific state-Rajasthan, Gujarat, Sikkim, Kerala and Odisha (not necessarily in the same order).

i. - Dance form of Sikkim is performed immediately afier performance of school B,

ii. Dance form of Kerala is performed by school A,

ii. Dance form of Rajasthan is performed in the 9.15 am slot.

iv. Dance form of Gujarat is performed one slot befare the performance of school B.

v. School C performs in the last slot immediately after school A.

vi. School D performs immediately before the dance form of Rajasthan is performed.

94.  What is the time slot of school A's performance?

(1) 9am (2) 9.30 am
(3) 9.45 am (4) Can't be determined
95.  Which school performs between the performances of dance forms of Gujarat and Sikkim?
(1) Rajasthan (2) Odisha
(3) Kerala (4) Can’t be determined
96. Which school amongst the following performs the dance form of Odisha?
(nHc (2)B
(3) A (4) Can't be determined

97.  If the time slots of school E and D are interchanged (while their dance form remains the same)
dance form from which state is performed in the 9.30 am slot?
(1) Rajasthan (2) Gujarat
(3) Odisha (4) Can't be determined

98.  Which one of the following statements is incorrect according to the arrangement?
(1) School E performs dance form of Sikkim in the 9.30 am slot.
(2) School E performs three slots after school C,
(3) School B performs in the 9.15 am slot.
(4) None of these

Directions (Questions 99-100) : Complete the series by replacing “?* with the correct option.
99. 13,17, 21,22,26,'?
(1) 28 (2) 30 (3) 33 (4) 35

100. B7L, C6M, DSN, E40, F3P, 7'
(1) Gap (2) G2I (3) G2T (4) G2Q
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101.

102.

103.

104,

105.

106.

107.

108,

109,

110,

111

112,

The instrument *Hydrometer' is used

(1) for measuring sound under water.

(2) to deteet the presence of hydrogen in the atmosphere,
(3) for measuring the specific gravity of liquids.

(4) 1o detect the changes in atmospheric humidity.

Which of the following places is known as the Jain Temple City?

(1) Girnar (2) Rajagriha (3) Varanasi (4) Prayagraj
Who were the first to colonize Goa?

(1) Portuguese (2) French (3) Dutch (4) English
Who among the following looted the temple of Somnath?

(1) Mahmud of Ghazni {2) Changhiz Khan

(3) Mohammad Ghori (4) Nadir Shah

Mahatma Gandhi started Satyagraha movement in 1919 in protest against the

(1) Simon Commission. (2) Champaran wrongs.

(3) proposed Rowlatt Act. (4) colonial exploitation of India.
Who among the following was the Chairman of the Drafting Committee of the Indian

Constitution?
(1) Rajendra Prasad  (2) Tej Bahadur Sapru (3) C. Rajagopalachari (4) B R Ambedkar

Who appoints/elects the Chairman of Public Accounts Committee (PAC) of the Parliament?
(1) Union Cabinet of India (2) Speaker of Lok Sabha
(3) President of India (4) Members of PAC

In India, Ten Rupee notes bear the signature of
(1) President of India. (2) Finance Minister of India.
(3) Secretary, Ministry of Finance, India. (4) Governor, Reserve Bank of India.

In which of the following banks one cannot open a personal account?

(1) Commercial Bank (2) Cooperative Bank

(3) Scheduled Bank (4) Reserve Bank of India
Atmospheric pressure exerted on Earth is due to

(1) gravitational pull of the Earth. (2) rotation of Earth,

(3) revolution of Earth. (4) uneven heating of Earth.
Which instrument is used for measuring the Atmospheric Pressure?

(1) Anemometer. (2) Barometer. (3) Hygrometer. (4) Thermometer.
The climate of a place depends upon

(1) its distance from the equator. (2) its height above sea level.
(3) Both (1) and (2) {4) None of these
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113,

114.

115.

116.

117.

119.

120.

121.

122.

123,

124,

125.

*Script’, an online furniture, kitchen, home accessories etc, platform is a venture of
(1) Future Group (2) Godrej (3) Hindware (4) Landmark

“Virasal’, a range of jewellery collection which is promoted by Indian actress Deepika
Padukone is from the house of

(1) Joyalukkas Jewellery (2) Kalyan Jewellers

(3) Tanishg (4) Malabar Gold and Diamonds

Which popular Indian film star is the brand ambassador of the ICIC] Bank?
(1) Anil Kapoor (2) Mahesh Babu (3) Nagarjuna (4) Shah Rukh Khan

‘CANTABIL’, the popular apparel brand name is from ___ .
(1) Italy (2) India (3) Singapore (4) Canada

Which one of the following is known as the ‘Golden Fibre' in Indian textile industry?
(1) Silk (2) Wool (3) Jute (4) Cotton

Which Indian film industry icon has been selected for the Dada Sahaeb Phalke award for the
year 2018 for his’her contribution to the Indian film industry?

(1) Manoj Kumar (2) Shashi Kapoor

(3) Vinod Khanna (4) Amitabh Bachchan

Who among the following has recently become the 26® chief of Indian Air Force (1AF)?
(1) BS Dhanoa (2) RKS Bhadauria  (3) Karambir Singh  (4) lgroop S Ghuman

Who among the following is one of the three joint winners of the Nobel Prize in Physics 20197
(1) Peter J Rateliffe  (2) Michel Mayor (3) Gregg L Semenza (4) None of these

In which city of Tamil Nadu, Prime Minister Narendra Modi met Chinese President Xi Jinping
in October 20197
(1) Chidambaram (2) Kancheepuram (3) Mamallapuram (4) Mettupalayam

Which team has won the 7* edition of Vivo Pro Kabaddi League 20197
(1) Bengal Warriors  (2) Dabang Delhi KC  (3) Patna Pirates (4) Haryana Steelers

Which country has recently honoured Prime Minister Narendra Modi with “The King Hamad
Order of the Renaissance™?

(1) United Arab Emirates (2) Saudi Arabia

(3) Jordan (4) Bahrain

Which of the following is a physical change?

(1) Oxidation (2) Reduction (3) Sublimation (4) Decomposition

How many bones are there in an adult human body?
(1) 180 (2) 198 (3) 206 (4) 210
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Directions (Questions 126-140): Read the following caselets to answer the guestions given af the
end of each caselet on the basis of information provided.
Caselet-1

Canadian apparels and accessories major Woodland is banking on technology-based products to steal
o march over fival sportswear brands including Adidas, Nike, Reebok, the Puma and the newest
entrant in the outdoor accessory segment, Timberland. Woodland plans to unveil a range of shoes and
apparels fitted with pedometers and those that are water resistant and wick-enabled among others at
competitive prices. The range will be available for T4,000-1 2,000. The company is targeting
GenNext to drive sales. “The youth, our core target group, is focusing on outdoor activities,” said
managing director (MD), Woodland India. The need for products with functional benefits is on the
fige with increasing interest in specialized outdoor activities. “The major competition for Woodland is
from sporiswear brands such as Adidas, Nike, Reebok, and the Puma,” said MD. Though pure play
outdoor brands are looking at this market with deep interest. Woodland currently has 400 stores in
India and aims 1o open 120 stores over the next three years. The footwear market is estimated at
220,000 crore of which the outdoor gegment contributes about 10%. The company reported revenues
of about 700 crore in 201819 and is looking to double sales by 2022.

126, Woodland plans 10 increase its sales by taunching products which are
(1) extremely cheap in the market.
(2) very trendy and fashionable.
(3) based on innovation and technology.
(4) None of these

127, By launching products and improved marketing, Woodland plans to
(1) marginally increase its sales in the COMINgG years.
(2) maintain its existing sales in the years 10 come.
(3) incrense its sales substantially in the next 2-3 years.
(4) capture the entire Indian nppumls-mcmnﬁu market within next few years:

128, New products of Woodland would have emphasis on outdoar activities of
(1) the elderly people.
(2) females of all ages.

(3) the young people.
(4) infants and children.
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Caselet-11

In a place where the concept of cafés is yet to arrive, the Amul outlet, a part of the cooperative’s rural
push across the country, has brought much joy to the locals, "We see huge potential for growth in the
parlour business coming in from small towns,"” said MD of the Gujarat Co-operative Milk Marketing
Fedetation (GCMMEF), which owns the Amul brand. *We have identified retailing as a strategic thrust
area and made giant strides here over the last five years. Today, we have the best distribution in the
country, reaching out to the smallest of the towns,” said MD. Amul currently has 7,000 Amul
Parlours in more than 1,600 towns across the country, opened through franchises that GCMMF
monitors. At present, market leader Amul has a 40% market share in the ice-cream and frozen
desserts business, estimated at an annual revenue of 2,500 crore and growing at 20% every year.
The company is trying to leverage its vast supply chain logistics to grow the parlour business. It is as
much about reaching out to customers as fighting off rivals, as the likes of Hindustan Unilever's
Kwality Walls, Mother Dairy and many regional players scale up their presence. Amul's expansion
comes at 4 fime when the competition is waking up to the potential of the segment. There is also the
possibility of investment coming in the supply chain logistics with the opening up of foreign direct
investment in multi-brand retil.

129. Amul is planning expansion at a time when the competition in the market is
(1) not really much. (2) increasing considerably.
(3) reducing a great deal. (4) None of these

130, Which of the following companies claims to have the best distribution in Indin?
(1) Kwality Walls (2) Mother Dairy (3) Amul (4) Vadilal

131. With the opening of foreign direct investment (FDI) in multi-brand retail, the investment in
supply chain logistics is likely to

(1) decrease considerably. (2) reduce marginally.
(3) increase somewhat. (4) remain unchanged.
Caselet-111

Ashok Leyland Ltd today announced the launch of its intermediate commercial range of vehicle Boss
iuﬂwhndhnha&uhmarkctmdu[dmmitwiﬂgnpm—lndhwiﬂlthcnr.wmnac in a phased
manner after consolidating its presence in the Southemn and Western regions. The intermediate range
of commercial vehicles, which span vehicles with carrying capacity of 8 to 16 tonnes, has grown
from & volume of about 28,000 commercial vehicles per annum 1o 56,000 CVs per annum over the
past five years, “We are looking at growing in this segment with the launch of Boss for haulage in
9.6, 11.9 and 12.9 tonnes. In a very short span of the Boss launch in Southem states, we have gained
market share. We expect this will go up as we initially consolidate our presence in the four Southern
cities and then Western region before going pan-India,” Managing Director of Ashok Leyland, said.
The market for commercial vehicle segment continues to be under severe pressure. The growth of
heavy commercial vehicle segment, which has 16 tonnes and above, and the intermediate segment
have contracted in the last two years from about 3,30,000 to about 2,50,000 units. The company
manufactures the Boss range from its Pantnagar facility in Uttarakhand, which can currently make
2,000 vehicles a month.
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132. As per the passags, which of the following ctatements is not true?
(1) During the past two years, market for hegvy and intermedini= Vs hias gone down.
(2) Ashok Leyland does not want to launch Boss Vehicle immediately on all-India basis,
(3) Ashok Leyland is not eyeing a bigger share of intermediate CV segment,
(4) All these

{43, During the past five years, intermediate CV segment has shown
(1) not much change. (2) hardly any increase.
(3) considerable increase. (4) remarkable decrease.

134, Presently, Ashok Leyland has how many manufacturing units i Southern India for Boss

vehicle?
(1) Two (2) Throe
(3) Only one (4) None of these

Caselet-1V

Waste disposal is the bane of many & new-age gity, and hustling metros such a8 Chennai, Delhi,
Mumbai and Bengaluru are no exception. The problem does not entirely lie with gorbage collection
agencies, who are doing their best to it all the refuse. Rather, the thousands of tonnes of solid and
liquid waste generated every day by the gargantuan population of these thriving Indian cities pose the
conundrum with respect 0 waste disposal: where will it all go? One proposed solution has been
incineration of the waste 10 make it more compact and manageable. Buming of waste can reduce the
volume by up to 90 per cent. Energy can also be generated as & useful by-product of the process. But
plans to set up such waste-10-energy units in India have met with staunch resistance from
environmentalists, Older plants that were set up in Delhi, Hyderabad, Vijayawada and Lucknow were
shut down for reasons runging from low calorific value of waste 10 lack of financial viability. Experts
from Singapore, however, assure that modern technology can mitigate the pollution caused by
incineration of waste. Singapore has four waste-to-energy plants in gperation around the clock,
handling some 7,600 tonnes of garbage thrown sway by its S-million-strong population every day.
India could make use of the waste-to-¢nergy rechnology harnessed by this country in order to come 10
terms with its own garbage disposal problems,

135. A number of proposals to dispose of garbage have been rejected due to
(1) resistance from environmentalists. (2) lack of funds to install such units.
(3) low amount of heat given by waste. (4) All these

136. As per the situation, India is facing a major problem of garbage disposal in
(1) small towns. (2) remote villages.
(3) big cities. (4) None of these
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137, According 10 the passage. which of the following statemenis is not true?
(1) Garbage digposal is & neW problem faced by big cities of India.
(2) Singapore has tried but failed t© find a solution 1o the problem of garbage disposal.
(3) In India, garbage disposal plants Were nstalled in & pumber of cities.
(4) All these

Caselet-V
Urban areas in India arc extremely dirty and the conditions are deteriorating day by day. Big heaps
and mounds of piled garbage cat be seen not only around slums, but also around busy market places,
where transactions in millions take place. Public health is the immediate sufferer and during the

chief carries out gatbage &t present with mattalions of sweepers and fleets of trucks. Se, much of time
is spent in handling inputs 10 the workers. NPM is the new technique of extension of market
principles 10 public administration. 1t includes giving contracts of services to the privaie $ECIOTS,
which could include co-operatives of former municipal emplovecs. BY this method, the bureaul chief
can supervise the output of his bureau, instead of focusing on inputs, This is the need of the hour a8
we need clean towns 10 ensure hygienic atmosphere.

138, What is the advantage of New Public Mana over traditional system?
(1) The bureau chief can devote more fime and attention 10 the result of the work undertaken.
(2) The New Public Management is more efficient and cconomical than the traditional system.
(3) The New Public Management will ensure cleaner cities and towns.
(4) None of these

{30, What would the former employees of municipal corporations do, if New Public Management is
implem
(1 Supervise the outputs of the burcau.
(2) Become jobless as the contracts will be in the hands of private sector and hence they will
form unions and go on sirikes.
(3) Form co-gperntives and start Aelivering the same gervices they have been rendering.

(4) Be paid more due 1o increase in efficiency and adaptability-

140. What can be inforred from the given situation?
(1) Poverty is algo responsibie for epidemics hreaking out.
(2) Dirty surroundings do not always reflect poverty:
(3) Lives of the por people are at a greater risk.
(4) Poverty isan indication of dirty surroundings.
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Directions (Questions {41-150): Esch of these questions hes n statement based on the preceding

passage. Evalumie cach statement and mark the answer &

(1) if the stoiement is & Msjor Objective in meking the decision: one of the soals sought by the
decision maker.

(2) if the statement is & Major Factor in making e decision: an aspect of the problem, specifically
mentioned in the passage, which fundamentelly affects and/or determines the decision.

(3) if the statement is 8 Minor Factor in making the decision: & less imporiant element hearing on OF
affecting & Major Faclor, rather than a Major Objective directly. ,

(4) if the statement is & Major Assumption in meking the decision: 8 projection of supposition
arived at by the decision maker bafore considering the factor and alternative.

Vikalpa-1

The Supreme Couit's judgement on Thursday backing the government's definition of adjusted gross
revenue (AGR) may hasten fusther consolidation, paving the way for & two-optrator telecom market,
comprising Relinnce Jio and Bharti Airtel with Vodafone ldes's very survival at stake, analysts said.
This, they said, is since Voda Idea’s total Ticence fee outstandings (including interest and penalties) o

the government is &t around a staggering $4 billion, which is well above its current $3 billion cash
reserves and its modest 12,442.42 crore market capitslisation. Rajiv Sharma, head of research at

two dominant national teloos, implying “Yodafone Idea's survival could face big challenges, given
that hsMbiilimduﬂtoDnTis nvnranﬂabuw'rtn{uhﬁ:m}ill billion net debt . Bank of
America-Merrill Lynch backed the view, saying “the question remains how Vodafone idea will fund
this payment,” adding that the apex court decision would lead to “material downside risks 1o the
company,” and further wyweaken the telecom sector with the prospect of increased gearing”.
According to the Department of Telecommunications (DoT), Airtel owes it ¥21,682.13 crore &8
licence fees (including mterest and penalties) while Vodafone Idea owes £28,308.73 crore. The
licence fee is computed 4% 8 percentage of AGR—conventionally the revenue telcos eam from
licenced mobile services, Sharma of SBICap Securitics though said Bharti Airtel won't need to
shoulder the licence fee outstandings of either Telenor India (T1,950.11 crore) or Tata Teleservices
(29,987.04 crore) as "It is indemnified by both the companies for their yespective past dues’". Sunil
Mittal-led Airtel has acquired Telenor's India unit, while it is swaiting DoT approval for acquiring
Tatn Tele's mobility husiness.

141. ‘There could be material downside ciks to the Vodafone idea company.

142, Bharti Airtel won't need 10 shoulder the Hicense fec outstandings of Telenor India or Tata
Teleservices.

143, Supreme Court has backed government's definition of AGR.
144, Voda ldes’s total license foe cutstandings to the government is at around § 4 billion.
145. Jio and Alrtel could emerge as the two dominant national teleos.
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Facebook chief executive Zuckerberg opened the door Wednesday t0 scaling back plans for the
mmmy'sdigitnlcumncfumﬂitmnnlmwwnluanewmmwfmglohﬂmhmngﬁ
"We clearly have not lnuknddnwnﬂaﬂlyhnwmishgammwwkm" 7uckerberg told members
aftlethminl Service Cnmm'mm"fhcgnlufuhmismhﬂ[daghhﬂmmms}mn
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privacy.

146. Fambmkhmﬁdmhwnwmdhﬁwhgnghhlpymmmm.

147, Some lawmakers want F-mbouktofouuundmprimy.

148. Fuebo&humwhwﬂvﬂmmmm:mwwfmﬁnww.

149, 'I‘hegnslufl..ibruhluhlilda global psyment system.

150, Libra could be limited to digital payment systems using individual currencies.
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